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Run 5345 quartetwise, PosHalAccl/NSamplas

=== Laser O -—
Entrie=: 27134
Mean: 72479 «- 0.DET
St Dhey: 1.1009 &~ 00040

=== Lager OFF ---
Entries: 27345
Mean: 26024 «- 006017
Sid Dhey: 027TE &~ 0100712

Run 5345 quartetwize, Diffs)

12 14
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=== Laser O -—
Entries: 27134
Mean: -0.3034 < 0L003L
Sid Dhey: 0U5650 +- 00024

=== Laser OFF ---
Entries: 27345
Mean: 0008 +- 0,000
Sbd Dev: 03417 - 0.0074

Run 5345 quartetwise, Asyms(

200

=== Laser ON -—
Entries: 27134
Mean: -31.67146 +/- 0.3574
Sid Dwev: &8.8TTE +- L2527

=== Laser OFF ---
Entries: 27345
Mean: 0.1925 +~ 0.2130
Sid Dev: 356044 4/~ 01506
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Run 5345 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entries: 27134
Mean: 75613 «/- Q.0072
Sbd Dew: 11807 & 0.0061

=== Lager OFF ---
Enlrie=: 27346
Mean: 26005 «- 00017
Sid Dev: 02762 & 000712

Run 5345 quartatwize, Sums0

=== Laser O -—-
Entries: 27134
Mean: 1479971 - 0001356
Sid Dev: 2.2199 & 00095

== Laser OFF ---
Enlries: 27346
Mean: 52029 +- 0.0026
Sid Dev: 043681 - 00078




230
2000
1R800
1800
1400
1200

1000
&0
&0
40
200

2500

2000

1800

1000

500

2500

2000

1800

1000

500

Run 5945 quartetwise, PosHelAccd

— Lasar O —
Erlne: X50H
Main: TFEEETLESTE +- 1IFAEF TR
Sd Dwre: RTIEES JNED &0 14T TE1D

— Lassar OFF —
Enlna: I8
Masn: JTEITTAJEES &0 22710348

S (Drwre: JE5RTOILT WA 4/~ T3S 3 BT

1 1 1 1 ] 1 L =1

Run 5945 quartetwise, Diffgd

— Lasar O —
trlnea: 35 10H
Maan: M EHE 0736 +- W80 40
S (D TARTETT S4ET «- G402 535S

— L OFF —
Cnln: I8
Main: 131311 +- I 14788

25 Dwre: JREASLATS +- Z1IRIRTZ

1 1 ] 1 1 JlC1|:".

Run 5345 quartetwise, Asymsd

=== Laser ON -—
Entries: 27134
Mean: -32.0891 +/- 0.30748
Sid Dev: 507062 &~ 02177

=== Laser OFF ---
Entries: 27345
Mean: -0.0032 «- 01028
Sid Dev: 171832 &/~ 0LOT27
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Run 5345 quartetwize, NegHalAcc4

— Ly 0% —

frlnes: X5TH

Magn: TESSTES0IE - D12ET270
25 Dwre: JSOO1206Y ARES +0- TR0 123Y

— Lussar OFF —
Erlna: I8
Maan: JTEM411 A58 = 2T ST
S [Dire: JETOIR DSES +'- TH3Z 124

de 1 ] 1 1 =10

Run 5345 quartetwizse, Sumsd

— Ly 0% —
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Run 5945 quartetwise, Asyms USbg?

=== Laser O -—
Entrie=: 27134
Mean: 0UO0ED +- 0,003
St Dhey: 0L5142 0 00022

=== Lager OFF ---
Entries: 27345
Mean: -0.0040 «- 00da
Sid Dhey: 0U5174 = 00022

en L el

Run 5345 quartetwize, Asyms Dsbg1

[

Ml o |

=== Laser O -—
Entries: 27134
Mean: 0000 «- 0.0006
Sid Dhey: 00507 - 00004

=== Laser OFF ---
Entries: 27345
Mean: 00005 +- 0.0005
Sid Drey: 00912 - D.0004

Run 5345 quartetwise, Asyms Horiz Fingar

=== Laser ON -—
Entries: 27134
Mean: -0.0002 «- 00012
Sbd Deyv: 3.1911 &~ 0.0008

=== Laser OFF ---
Entries: 27345
Mean: 00ES2 +- 0.0012
Sid Drey: 001949 - 00008
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Run 5845 quartetwise, Asyms USbg2

1

=== Laser O -—-
Entries: 27134
Mean: 000013 «/- 0.0
Sid Dhev: 034771 &8 0005

=== Lager OFF ---
Enlrie=: 27346
Mean: -0.0014 «/- U021
Sid Dev: 03469 - 00015

1

.M 0 1 | I B T

Run 5345 quartetwise, Asyms D5bg2

Mﬂﬂmm. I

] a 0.5

=== Laser O -—-
Entries: 27134
Mean: -0.03001 «- 0000E
Sid Dhev: 0U0E47 & 00004

== Laser OFF ---
Enlries: 27346
Mean: -0.0000 «- 000)E
Sid Deyv: 0L0EIT - 00004

Run 5345 quartetwise, Asyms Vert Finger

0.3

=== Laser O -—-
Entries: 27134
Mean: -0.0030 «- 00016
Sid Dhev: 02647 & 0.0071

== Laser OFF ---
Enlries: 27346
Mean: -0.0000 «- 00017
Sid Dev: 02870 - 00072
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Run 5245 quartetwize, posHE vs time
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Run 5245 gquartetwize, negHO vs time
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Run 5245 quartetwize, posH4 vs time Run 5245 gquartetwize, negH4 vs time
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Run 5245 quartetwize, DSbg1 ve time
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